ICADE.

HD ROCK SLIDERS

(2021+ BRONCO - 2 DOOR)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED

) LH Rock Slider 15mm, 16mm, 17mm Sockets/
) RH Rock Slider Wrenches

) LH Front Bracket - DF Ratchet

) LH Rear Bracket - DR

) RH Front Bracket - PF
)
)
6
)

[ N

(
(
(
(
(
(1) RH Rear Bracket - PR

(8) M10x1.50 x 35mm Bolts
(16) M10 Flat Washers

(8) M10 Lock Nuts

SKU # FB15250



y

; - A
i\
AN

STEP1

Locate the (2) body mounts on the vehicle. Remove the (1) 15mm bolt per body mount.

Note: It is recommended to use heat on the bolts prior to removal to prevent bolt and bushing
damage. *Remove body mount bolts from one side of the vehicle at a time.

STEP 2

With the body mount bolts removed, align the appropriate mounting bracket to each body mount.
Re-install the body mount bolt hand tight to hold each bracket in place.

Note: Mounting brackets are stamped with identification label for each suitable location, see
contents list.



T \\\_\\‘3,

~ DAY\
\_ i

STEP 3

With assistance, align the rock slider to the mounting brackets. Secure the rock slider using (4) M10
x 35mm bolts, (8) M10 flat washers, and (4) M10 lock nuts.

STEP 4

Tighten the body mount bolts to secure the rock slider to the vehicle (Torque to 85 ft. Ibs). Repeat
steps 1-5 to the opposite side of the vehicle.

Installation is now complete.



	FB15250 - Barricade - HD Rock Sliders (21+ Bronco 2 Door)-01
	FB15250 - Barricade - HD Rock Sliders (21+ Bronco 2 Door)-02
	FB15250 - Barricade - HD Rock Sliders (21+ Bronco 2 Door)-03

